Mansfield Band Budget 2021-2022

REQUEST	QUANTITY	COST PER ITEM	TOTAL COST		
Marching Band					
Staff					
Color Guard Drill Writer	1	\$1,200	\$1,200		
Music Writer	1	\$1,200	\$1,200		
Percussion Writer	1	\$1,200	\$1,200		
TOTAL			\$3,600		
Color Guard					
Costume	10	\$100	\$1,000		
Costume Set Up Fee	0	\$0	\$0		
Rifles	0	\$0	\$0		
Flags	40	\$30	\$1,200		
Tape/Accessories	1	\$250	\$250		
TOTAL			\$2,450		
Band					
Instruments/Repair			\$4,000		
Drumsticks			\$2,000		
Mallets			\$2,000		
TOTAL			\$8,000		
Props					
No Props	0	\$0	\$0		
Show Fees					
NESBA Show Fees	4	\$125	\$500		
US Bands Show Fees	1	\$200	\$200		
TOTAL			\$700		
Truck Rentals					
Truck Rental	5	\$250	\$1,250		
Gas/Tolls	5	\$50	\$250		
TOTAL			\$1,500		
Misc. Expenses					
Voiceovers	1	\$200	\$200		
Uniform Alterations	1	\$200	\$200		
Copyrights	4	\$400	\$1,600		
Speaker Carts	2	\$900	\$1,800		
Synth Cart	1	\$2,500	\$2,500		
TOTAL			\$6,300		
MARCHING BAND TOTAL			\$22,550		

Wi	inter Varsity Cold	or Guard		
Color Guard Drill Writer	2	\$1,500	\$3,000	
Props		\$1,000	\$1,000	
Rifles	5	\$50	\$250	
Sabers	5	\$215	\$1,075	
Flags (not sure of specifics yet)			\$2,500	
Tape/Accessories			\$500	
Show Fees	7	\$75	\$525	
WGI Regional	1	\$325	\$325	
COLOR GUARD TOTAL			\$9,175	
Note: Total may increa	se if we have Jr. '	Varsity Color Guard this	year	
	Winter Percus	sion		
Music Writer	1	\$2,000	\$2,000	
Percussion Writer	1	\$2,000	\$2,000	
Props		\$1,500	\$1,500	
Floor		\$3,000	\$3,000	
Drum Heads			\$1,500	
Drum Wraps			\$900	
Drumsticks			\$500	
Mallets			\$1,500	
Cables			\$800	
Music Copyrights	4	\$400	\$1,600	
Truck Rentals	7	\$250	\$1,750	
Gas/Tolls	7	\$50	\$350	
Show Fees	7	\$75	\$525	
WGI Regional	1	\$325	\$325	
WINTER PERCUSSION TOTAL \$18				

\$49,975

2021-2020 BUDGET TOTAL



	_
1	_
	_
	_
	_
	_
	_
	_
	_